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; 1. oot AR o Sepifs Tes fu 1x8=8

Answer the following as directed :

(a)‘qwﬂwm RNIE ﬂmﬁ@m
RfsgrRe >1/ 1 /<1791
( wm Te3Chr A Sferean )

Elasticity of demand at the midpoint
of a straight line demand curve is
>1/1/<L

( Choose the correct answer )




(b)

(c)

(@)

(e

8 wfefegee vitw @R Sy SPEEYN
SIS/ Tog =7 |
( % Taacs qfe Sferear )

Perfectly inelastic demand curve is
parallel / vertical to the vertical axis.

( Choose the correct answer )

Qe i b1 Jiorf 25 “TesAFe, S IR
CICAT S =7 |
(@ (1 S ek )

An assumption to the law of supply is
‘there will be no change in input prices’.

(State True or False )

@QWWW%QW——W——W
TGITS F=o( (AET |
(e 22 o= T4 )

Production function shows the physical
relationship between —— and ——.

( Fill in the blanks )

GBI P AT R FR-=f v 271 / 3%
SR el el Tojgeis 3 |

(wm Teach qif Sferear )

Internal economies are enjoyed by a

~ ' business firm due to a decrease / increase

'in its scale of operation.

_ (Choose the correct answer )



() o9 afScfenss 3s<® AR # MR.
(o & Srm for )

Under perfectly competitive market
AR # MR.
( State True or False))

(9) 1 dfScrenee IwRe TeomE iR
TFIER Q9T (Froe SwE Wyenf/ Sen
2q |

( wm Taqen b Sfeed )

The short-run supply curve of a firm
under perfect competition-always slopes
downward / upward.

( Choose the correct answer )

(h) ISR 79 G5 AEIEE / TP [/ SfS ZFFIA
73 |
( wm Te0o! i e )

Market price is a long-run / short-run /
very short-run price.

( Choose the correct answer )

2. wHe (AR 8o ® 5q(F fore : 4x4=16

Write on the following in brief :

(@) WRATST I GBR o FEIPHZ

Basic problems of an economic system



(b) vifzwR ffs-RfSE ol

Cross-elasticity of demand

(c) H-Tesiw U/ CAPEPTR

Properties of isoquants

(d) TeRT T uF weRe 7 Sfe-FeiRE a®

Normal profit and supernormal profit

3. (@) Ifire SRy o4Ffe == AR ST
0 | | =

Discuss the nature _and scope of
business economics.

~1331 /-Or

(b) ISR AR IS WM F9 1 TR Al
S e Fen Fhve e i,
HCeIo= <9l 10+4=14
Explain the working of price mechanism.

Discuss whether price mechanism can
ensure maximum social welfare.

4. (o) SRR W fEfSweee qRAOGT qEn w90
e weRifve i W fEfewee
YRECOR B SCADA 39 | 8+6=14

Explain the concept of income elasticity
of demand. Discuss the importance of

income elasticity of demand concept in
business economics. |



wgqr / Or

(b) v T Rfgrre AR TemEeTR

5. (q)

(b)

6. (a)

& &2 I ofepe] Pras 229 e sifEne
T ffowrmon R oRw e @7 8+6=14

What are the factors that determine
price elasticity of demand? What role
does price elasticity of demand play in
decision-making by business firms?

RIS wers wghl ToRE aw e
T | G& FrOfEE TLAMCE @G BIS
T e [mifa 2 10+4=14

Explain the law of variable proportions
with suitable diagram. In which stage a
rational producer will seek to produce?

72/ Or

T ARSI R Wemeld W AR
ferRiel 3ol SCesal ¥4 | 14

Discuss the internal and external
economies of a business firm.

qWﬁ%WWWW@TWWW

wE 2 Ecm F9 (RO ST SrEy
341 | 9+514

Explain Baumol’s sales revenue
maximization hypothesis and mention
some of the criticisms levelled against it.



A%/ Or

(b) A efscafier oA CIFEPRE SCAH
| 3 TEAS ZFFOS T AE AT A
eifém e 41 | 5+9=14

Discuss the features of perfectly
competitive market. Explain the process
of price output determination in the
short-run under such market.

( Old Course )

Full Marks : 80
Pass-Marks : 32

1. ooe AR e, Sepifs Teg far . 1x8=8

Answer the following as directed :

(@) e wLfer agfe Tfm / swiE@
i |

(=% Tesch Afe Sferear )

Business Economics is micro / macro
economics in nature.

( Choose the correct answer )



(b) IR SE @ S S AHTS oy e
< AfFay —— afem s |
(<@ 5Ty e@a )

The mechanism of price determination
by the free play of forces of demand and
supply is known as —— mechanism.

( Fill in the blank )

(0 cfoq @b Somme e o e 9ol
Tofrw W AR WEER I, (Ol
Pied FRFT fowsm 2 2 A T

(o e o)

The marginal rate of technical substi-

tution increases as more and more of

one input is substituted for the other
input.

(‘State True or False )

(@) = ARSAPPRES TEme (P b1 AfSor 7=
fefg 3R #Ig / @(RIE |
( wm Teaco! A Sferedr )

A firmunder perfect competition can /
cannot determine the price.

( Choose the correct answer )

(o) SOZTIFE TaE TN 7 A |
(W= ¢ Srem fo )
Very short-run price is known as normal

price.
( State True or False )



(

(9)

(h)

b1 Tesm eifedia o AfSTIIATORETR W;

B e qE —— S e T |
(AR o2 7@ )

A firm under perfect competition in the
long-run earns only —— profit.

( Fill in the-blank )

W R wee 2, Az ) G
FETE 0wy @ ffen TERe, (@969 Teefire
TR SR we fEfegeeel 539

(g 1 =% o)

Price discrimination will be profitable
only when the monopolist finds that the
price elasticity of demand for his product
is different in the different markets.

( State True or False )

@S FEACTFS AfDPHR qow W W

TATR (o JEfS a1t e, cofen we Iws

sf-ERTel / #W TR @@ |
(o= TeIch qift Sferedr )

When the firms under oligopoly reach
and understanding in price and output
determination, it is known as pure
oligopoly / collusive oligopoly.

( Choose the correct answer )



2. o° WA some oqta for 4x4=16

Write on the following in brief :

(a)

(b)

(c)

()

3. (a)

(b)

AfETE SN o s@=oRINS SLNER Spoor

Relationship between business economics
and traditional economics

FAY-TRAMH (Y1

Isoquants

] Reonesa

Price discrimination

e RGN S A3 a5

Baumol’s sales revenue maximization
hypothesis

Afifens SRRy CaFEPTR oe #If3/ SIS
91 | 6+5=11

Discuss the characteristics and scope of
business. economics.

1241 / Or

SeftoF T GBI To1 STTHPTIR HICAGA F97 |
TR IR A_ T OTPTER (FECE G
=, W 0 6+5=11

Discuss the basic problems of an

economic system. Explain how are the

basic problems solved through the price
mechanism.



S RSl T & @R 7 e B
4. (q) m;ﬁ@ﬂgm fifraet F@? 3+8=11

What is meant by price clastici.ty of
demand? How is the price elasticity o;'
demand measured on a linear deman

curve?
~12q1 / Or
(b) TwR fefe-Rfewrmer e a1 fifns
HAifos R 9FG A F 5+6=11

Define cross-elasticity | of demand.
Discuss its importance in business
economics.

5. (a) TRPHM el RICGR Fertrz Sway 791
SoRe baq REe @2 R a4 $911 3+8=11
State the “assumptions of the law of

diminishing returns. Explain the theory
with the help of suitable diagram.

V331 / Or

(b) I AfSPH OR TemA ool W

QGRS Foo[ SICEAD 47 | 8+3=11

Discuss the internal economies and
diseconomies of a business firm.



6. (@) TP SR S TAFIR Traph A
| e e R SRR Reem (@[l
AR 5 162 8td=l2

Explain the profit maximization objective
of business firms. On what grounds it
has been criticized in recent times?

52491/ Or

(b) o efiorER IwRd @FEIR & 2
TS 3 JGRS (P M3 AT R =7,
BIHSIIESIR 4+8=12

What are the« features of perfect
competition? Explain how are the price
output determined under such market
in the short-run.

7. (a) SFO0IITR E 7 AN T Trers
], PNAPPTYR, S F1 | GO IS 7
o o @ WS =, e w11 3+8=11

Discuss the differences between

monopoly and perfect competition.

Explain how are the price and output
determined under monopoly.



w1%31 / Or

(b) FERcare qeraa AMBPTR 391 I | TR (TPE-
RF® yoReee o@e W@ ARTT fAfRa

w{ReTeBr T 90 3+8=11

Discuss the characteristics of oligopoly.
Explain the price output determination
process under ‘price leadership’ in

oligopoly.
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